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LISTA TRUPURI UAT MURFATLAR
TRUP  M1   - VATRA MURFATLAR
TRUP  M2   -Ferma 3- 
TRUP  M3   -
TRUP  M4   -PUNCT TURISTIC
TRUP  M5   
TRUP  M6   -SECTOR MECANIC FERMA 4-

TRUP  M7   -FERMELE 1-2 - 
 (ptr. Ferma 1)

TRUP  M8   -ANEXA FERMA 1- 

         (ptr. Ferma 1)
TRUP  M9   - FERMELE 5-6 -LOT1- 

(ptr. Ferma 6)
TRUP  M10 - FERMELE 5-6 -LOT2- 

(ptr. Ferma 6)
TRUP  M11 - FERMA 1 - CRAMA VECHE
TRUP  M12 - PUNCT AMARASCU
TRUP  M13 - FERMA 2 - s.c.MURFATLAR ROMANIA s.a.
TRUP  M14 - FERMA 3 -
TRUP  M15 - FERMA 4 -s.c.MURFATLAR ROMANIA s.a.
TRUP  M16 - OCOLUL SILVIC Murfatlar
TRUP  M17 - FAZANERIE
TRUP  M18 - S.P. BASARABI PADURE
TRUP  M19 - POPAS TURISTIC "FANTANITA"
TRUP  M20 -
TRUP  M21 - HIDROFOR CRAMA s.c.MURFATLAR ROMANIAs.a.
TRUP  M22 - STATIE HIDROFOR S.C.D.V.V. Murfatlar
TRUP  M23 - PUT FORAT s.c.R.A.J.A.s.a.
TRUP  M24 - PUT FORAT s.c.R.A.J.A.s.a.
TRUP  M25 - PUT FORAT s.c.R.A.J.A.s.a.
TRUP  M 26 - LOCUINTE SEZONIERE (LOTURI PARCELA A225/4)
TRUP  M 27 - FERMA GEGIU

UAT PRIMARIA SI CONSILIUL LOCAL AL
ORASULUI MURFATLAR
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